
Installation Instructions 
Engine and Fairing Crash Bars V-Strom DL1000

November 2002

Contains:
1 x Crash bar left
1 x Crash bar right
1 x Connecting bar
1 x Mounting material

TOURING   RALLYE   RACING    TECHNOLOGY

09-051-0521-1

These instructions are at our current level of knowledge.  Legal requirements do not exist.  Technical issues subject to change.

Loosen the screws as shown on photos 1+2 of the 
motor/frame attachment as well as side covers on both 
sides of the radiator.
Put the connecting bar over the radiator, flat spots parallel 
to ground, and attach it to the radiator thru the side covers.  
Do not tighten the bolts yet. 
Put two spacers in the frame holes supplied in the 
mounting hardware.  There are two different spacers so 
make sure to use correct ones in each frame attachment.   
Set the crash bars on the bike and attach the upper 
mounting point with the M8x45 bolts and washers.  For the 
lower left attachment, use the M10x100  bolt and lower 
right the M10x80 and spacers.
Do not tighten the bolts yet.
Attach the connecting bar to the crashbars with the M6x20, 
washers and nylock nuts.
Now tighten all bolts.

1

2

3

Installation:


